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Note: This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Attempt the questions
contained in these Sections according to the detailed
instructions given therein.

AS:  TE TE-US A (80) IHHl 1 B SN AN (3) @Uel ‘&,
‘@' e ‘n' ° fawifea ®1 Yo @ve ¥ feu o famqa
el & ST ER & ue & SW A T
SECTION-A / @Ug-&h
Long Answer Type Questions / (&€ ST U9 )

Note: Section ‘A’ contains four (4) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (2) questions only

(2x19=38)
He: @ ‘w W W9R (4) I I WA R ™ ¥ vy
% fow S=E (19) @i fauif@ &) foenffal = =9 @
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1. Define Sanskritization. Evaluate the effect of
sanskritization on Indian society.
HEhRTqehTor 1 IR HIfSTl IRAE THN R GEh e
% J9El T AR hITST|

2. Write an essay on ‘Changing status of women in
India’.
‘ard | Afgenet w1 aged diftefd w Ttk free fafau

3. What do you understand by Joint family? Which
factors are responsible for changing in joint family?
T IRER @ 39 o Gue 27 GYH URaR H uftedd
% U STREET FRE -9 €7

4. Explain the concept of Jajmani system and its
functions.

STSTHT] SHEEeN hi STIUROT § 1Al ] SARSAT HiaU|

SECTION-B / @us-@
Short Answer Type Questions / (&g 3T U9 )

Note: Section ‘B’ contains eight (8) Short answer type
questions of eight (8) marks each. Learners are

required to answer any four (4) questions only
(4x8=32)

e @ug ‘@' ¥ o8 (8) WY S wed Ry ™ € ye&d wwE
% foau eme (8) oiw fruifid 81 foanfefa 1 =99 9 ford
TR (4) G B IW A T

1. Traditional forms of Hindu marriage.

feg foae & T @E|

2. Impact of globalization in Indian society.
TR GHS R SYAH HT G|
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3. Write the problems of tribes in Uttarakhand.
SAETE H SAaal s qHEEn fafen)
4. Main characteristics of social change.

grifess afedq #1 yHE e

5. Main objectives of Muslim marriage.
ofeey foae & v 3|

6. Analyze the impact of westernization on Rural
India.

IO 9RG | UYEHIR0T & Y6 R fIvATur Shifsu)

7. Demerits of caste system.

Sifd sqaEen % T

8. Concept of development.
IRt R STSYROMI

SECTION-C / @ug-T
Objective Type Questions / TETS U9
Note: Section ‘C’ contains ten (10) Objective type questions
of one (1) marks each. All the questions of this
section are compulsory. (1x10=10)

qe:  @ue ‘' W W (10) TS T KU W R e 9w &%
fau ww (1) ofw fwif@ € @ wve & wsft g siferd
2

Write true/false against each statement:

Tk a9 & 3T HoasT fafeu:

1. Muslim marriage is a religious sacrament.
(True/False)
e foame s ifies TR 2l (T3
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2. Exogamy is a prohibition of Hindu marriage.
(True/False)
Ifefdare feg faae &1 = oy 7 (T/FTEA)
3. Occupational theory of the origin of caste is
propounded by Huttan. (True/False)
Sifq 1 Scafa 1 e fage ged g gfaaiea 2l
(F/319A)
4. Social change is a universal process. (True/False)
SR qRade Tk | gfme 2 (/7))
5. According to S.C. Dube ‘Cate is a closed class’
(True/False)
. W @ w SER S Tk a=er B (WS
Match the following:

frefafea &1 faem sifea:

6. Cyclical theory of social change Uttarakhand
qrTtSTes 9Re @1 =fera g SEETS

7. Social change in modern India Rajbali Pandey
AT =9 31 Hied gfoga TEe qve

8. Raj tribes Perito
Tl ST U

9. Hindu sanskar Wiser
feg g&nR EIESE

10. Hindu Jajmani system M.N. srinivas
fowg STomT SHaen TH. . gifes

seskskskok
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